2/23/10 Homework 4. Due , March 3

1. For A\¢*, we have m% = Z,,m% (check your lecture notes for the notation). Define
Zm = 14+ 3 cr(Ne*. To two loops, i.e. to order A2, where A = A/1672, one
computes
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Verify that the coefficient co of the 1/€2 term is completely determined by ¢; and the

Zm=1+€¢1A—

condition that ~,, have a smooth ¢ — 0 limit. Verify that the ¢; and co given above

satisfy this relation (using the expression given in class for G(, €) to one loop).
2. Srednicki, 28.3.

3. Peskin 12.3.



